



St. Louis County, Minnesota

Date of Report: 12/16/2025 5:22:48 AM

**General Details** 

 Parcel ID:
 420-0030-02270

 Document:
 Abstract - 01423915

**Document Date:** 08/05/2021

Legal Description Details

Plat Name: LAVELL

Section Township Range Lot Block

14 55 20

**Description:** SW 1/4 OF SW 1/4

**Taxpayer Details** 

Taxpayer Name MENTER DAVID & CHRISTINA

and Address: 6401 UPTON AVE S

RICHFIELD MN 55423

**Owner Details** 

Owner Name MENTER CHRISTINA H
Owner Name MENTER DAVID G

Payable 2025 Tax Summary

2025 - Net Tax \$1,391.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,476.00

**Current Tax Due (as of 12/15/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$738.00	2025 - 2nd Half Tax	\$738.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$738.00	2025 - 2nd Half Tax Paid	\$738.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 11059 OJA RD, HIBBING MN

School District: 2142
Tax Increment District: Property/Homesteader: -

	Assessment Details (2025 Payable 2026)									
Class Code Homestead Land Bldg Total Def Land Def Bldg (Legend) Status EMV EMV EMV EMV EMV										
207	0 - Non Homestead	\$39,500	\$55,700	\$95,200	\$0	\$0	-			
111	0 - Non Homestead	\$35,900	\$0	\$35,900	\$0	\$0	-			
	Total:	\$75,400	\$55,700	\$131,100	\$0	\$0	1549			





St. Louis County, Minnesota

Date of Report: 12/16/2025 5:22:48 AM

**Land Details** 

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lo

_ot	Depth:	0.00					
The http:	dimensions shown are not of://apps.stlouiscountymn.go	guaranteed to be su v/webPlatsIframe/frr	rvey quality. Ad nPlatStatPopUp	ditional lo o.aspx. If	t information can be fou there are any questions	nd at , please email PropertyTax	@stlouiscountymn.gov.
			Improver	ment 1	Details (60X80)		
ı	mprovement Type	Year Built	Main Floo	r Ft ²	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	POLE BUILDING	0	3,510		3,510	-	-
	Segment	Story	Width	Length	n Area	Foundation	1
	BAS	1	45	78	3,510	POST ON GRO	UND
	LT	0	16	78	1,248	-	
			Improveme	ent 2 De	etails (22X24 DG)		
ı	mprovement Type	Year Built	Main Floo	r Ft ²	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	GARAGE	0	528		528	-	DETACHED
	Segment	Story	Width	Length	n Area	Foundation	ı
	BAS	1	22	24	528	POST ON GRO	UND
			Improveme	nt 3 De	tails (8X14 SHED)		
ı	mprovement Type	Year Built	Main Floo	r Ft ²	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
S	TORAGE BUILDING	0	112		112	-	-
	Segment	Story	Width	Length	n Area	Foundation	1
	BAS	1	8	14	112	POST ON GRO	UND
			Improveme	nt 4 De	tails (22X8 SHED)		
ı	mprovement Type	Year Built	Main Floo	r Ft ²	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
S	TORAGE BUILDING	0	216		216	-	-
	Segment	Story	Width	Length	n Area	Foundation	1
	BAS	1	12	18	216	POST ON GRO	UND

			p. 0 v 0	JIII 4 DO	and (LLMO OTTEL	1	
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
S	TORAGE BUILDING	0	21	6	216	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	12	18	216	POST ON GF	ROUND

	Improvement 5 Details (7X7 SHED)										
I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
STORAGE BUILDING 0		0	49	)	49	=	-				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	1	7	7	49	POST ON GF	ROUND				

	improvement o Details (CAMPER 11)									
Improvement Type Year Built			Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
		0	190	6	196	=	-			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	0	7	28	196	-				





St. Louis County, Minnesota

Date of Report: 12/16/2025 5:22:48 AM

		Improve	ement 7 Detail	ls (40X126)				
Improvement Typ	e Year Built	•		. ,	Basement Finish	St	yle Code & Desc.	
POLE BUILDING 0		5,04	5,040 5,040		-		<u>-</u>	
Segment Story		y Width	Length	Area	Found	ation		
BAS	1	40	126	5,040	POST ON (	GROUND	)	
		Improven	ent 8 Details	(OLD SLAB)				
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gros	ss Area Ft 2	Basement Finish	St	yle Code & Desc.	
	0	48	0	480	-		-	
Segme	nt Stor	y Width	Length	Area	Found	ation		
BAS	0	20	24	480	-			
	:	Sales Reported	to the St. Lou	uis County Aud	litor			
Sa	le Date		Purchase Pric	e	CR	V Numb	er	
30	3/2021	\$181,000 (	This is part of a m	ulti parcel sale.)		244711		
		As	ssessment Hi	story				
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Bld EM	g Net Tax	
	207		\$49,600	\$91,300	\$0	\$0		
2024 Payable 2025	111	\$39,000	\$0	\$39,000	\$0	\$0	-	
	Total	\$80,700	\$49,600	\$130,300	\$0	\$0	1,531.00	
	207	\$39,100	\$41,200	\$80,300	\$0	\$0	-	
2023 Payable 2024	111	\$35,400	\$0	\$35,400	\$0	\$0	-	
	Total	\$74,500	\$41,200	\$115,700	\$0	\$0	1,358.00	
	207	\$37,200	\$38,100	\$75,300	\$0	\$0	-	
2022 Payable 2023	111	\$32,800	\$0	\$32,800	\$0	\$0	-	
	Total	\$70,000	\$38,100	\$108,100	\$0	\$0	1,269.00	
	207	\$32,800	\$26,200	\$59,000	\$0	\$0	-	
2021 Payable 2022	111	\$26,900	\$0	\$26,900	\$0	\$0	-	
	Total	\$59,700	\$26,200	\$85,900	\$0	\$0	1,007.00	
		7	ax Detail His	tory				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	s Taxable Land	Taxable Bui I MV MV	-	Total Taxable MV	
2024	\$1,275.00	\$85.00	\$1,360.00	\$74,500	\$41,20	0	\$115,700	
2023	\$1,197.00	\$85.00	\$1,282.00	\$70,000	\$38,10	0	\$108,100	
2022	\$1,067.00	\$85.00	\$1,152.00	\$1,152.00 \$59,700 \$26		0	\$85,900	

St. Louis County, Minnesota





St. Louis County, Minnesota

Date of Report: 12/16/2025 5:22:48 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.